16.

f(x)=2Vx—1+3
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Because 2 = 1 and k = 3, shift the graph of f(x) = 2Vx
right 1 unit and up 3 units.

The domain is x 2 | and the range is f(x) = 3.

17.

y=@x+1)?+8=Vx+1+8
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Because # = —1 and k = 8, shift the graph of y = x!’2 left
1 unit and up 8 units.

The domain is x 2 —1 and the range is y = 8.
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Because & = 5 and k = 1, shift the graph of y = —4Vx
right 5 units and up 1 unit.

The domain is x = 5 and the range is y < 1.

s=3an_y =33y
y = 2% 1—4\/.; |

T
L1
|

19.

Because 7 = 0 and £ = —1, shift the graph of

y = %xm down 1 unit.

The domain and range are both all real numbers.




y==2Yx+5+5

20.
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Because # = —5 and & = 5, shift the graph of
y = —2V/x left 5 units and up 5 units.

The domain and range are both all real numbers.

h(x) = =33x+7 —6

Because # = —7 and k = —6, shift the graph of
h(x) = —3V/x left 7 units and down 6 units.

The domain and range are both all real numbers.
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y=-Vx—4-7

right 4 units

The domain

Because h =

P——

4 and k£ = —7, shift the graph of y = —Vx
and down 7 units.

is x 2 4 and the range isy £ —7.

23.

g) = —3Vx — 6
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gx) = %\3/?

Because h =

0 and k£ = —6 shift the graph of

down 6 units.

The domain and range are both all real numbers.
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y=4Vx—4 +5
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Because & = 4 and k = 5, shift the graph of y = 4V/x
right 4 units and up 5 units.

The domain and range are both all real numbers.




